P5-5 #14, 15, 41, 45, 46, 47, 9-16all

Lesson.Check
Do you know HOW?
Solve each equation.

12. 35 =9 13, 2! =25
. 14, logdx=2 15. logx—log2=3

Solve each equation. If necessary, round to the nearest ten thousandth.

38. 8% = 444 39. Llogx +log4 =2
40. 4logz2 —2logax =1 41. logx* =2
42. 9% =42 43. logg(2x 1) =4
44, log(5x—4) =3 45, 1247 * =20
46. 5% = 125 47. logd +2logx=6
48, 3 =772 49. log;3x=3

Write each expression as a single natural logarithm.

9.4In3 10. In18 —In 10
1. In3 +In4 12. —2In2

Solve each equation.
13. In5x=4 1M4. In(x—-7)=2
15.2lnx=4 16. In(2-x)=1
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